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Search Information

RA 000 = 18:52:31.1513
Best Fit Parameters

Reduced x? = 17.909

Dispersion Measure (DM; pc/cm )

P(Noise) < 1.11e—304
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= 9.163e+04 Toeri = N/A
n _|
Q
o o | N
g 2
>
e 1 o
S 5 -9
LO.*g 2 | | - g
o C
S (N
8 -8
o
- | | JEIT L -
o
c L
<.8 L
o *g I
= o I — T T Q
- 0O 04 08 12 16 2 B
Phase o
S 8
° ko E o
o 0 E = M
- E -
SOk 3
o 7 E ] |
@0 F = 5
o o b 1 T
0 200 400 600 800 o

DM (pc/cm®)

4bit—p2030.20111018.G35.89+01.18.S.b0g0_0001 .fits

DEC = 03:07:06.5609

J2000

(~37.30)
320.607

y (ms) =
(S/ s) =

P“bw (s/5%) =

0.0(1.8)x107°
0.0(4.5)x1

e = N/A
w (rad) = N/A

1-0‘;" 5x10° 0 —sx105 - —10
P—dot — 1.3616e—10 (s/s)
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Period — 1326.55952100 (ms)
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